
Multiplication et Division (F)Calculez chaque produit ou quotient.1 × 4 = 1 × 8 = 11 × 12 = 6 × 10 =72 ÷ 6 = 14 ÷ 7 = 13 × 11 = 4 × 14 =20 ÷ 4 = 3 × 13 = 5 × 13 = 3 × 3 =9 × 4 = 8 × 5 = 126 ÷ 9 = 30 ÷ 3 =1 × 13 = 42 ÷ 6 = 63 ÷ 9 = 6 × 11 =4 ÷ 1 = 12 × 15 = 56 ÷ 14 = 7 × 15 =12 × 5 = 6 × 5 = 3 × 12 = 182 ÷ 14 =3 × 11 = 6 × 13 = 52 ÷ 4 = 120 ÷ 10 =150 ÷ 10 = 56 ÷ 7 = 32 ÷ 8 = 90 ÷ 10 =15 × 3 = 11 × 12 = 4 × 11 = 5 × 14 =10 × 6 = 169 ÷ 13 = 6 × 2 = 130 ÷ 13 =168 ÷ 14 = 110 ÷ 11 = 143 ÷ 11 = 14 × 3 =2 × 9 = 150 ÷ 15 = 2 × 11 = 3 × 1 =42 ÷ 3 = 2 × 9 = 9 × 4 = 4 × 12 =18 ÷ 2 = 72 ÷ 12 = 1 × 5 = 70 ÷ 7 =11 × 9 = 3 × 9 = 32 ÷ 8 = 12 × 9 =10 × 2 = 10 × 1 = 91 ÷ 7 = 98 ÷ 7 =9 × 4 = 14 ÷ 2 = 9 × 10 = 5 ÷ 5 =91 ÷ 13 = 10 × 12 = 39 ÷ 3 = 4 × 13 =99 ÷ 11 = 48 ÷ 4 = 5 ÷ 1 = 90 ÷ 10 =90 ÷ 6 = 117 ÷ 13 = 4 × 4 = 105 ÷ 7 =3 × 5 = 48 ÷ 4 = 1 × 14 = 35 ÷ 5 =8 × 6 = 1 × 5 = 9 × 14 = 72 ÷ 9 =21 ÷ 3 = 9 ÷ 1 = 4 ÷ 1 = 10 × 12 =1 × 13 = 12 × 4 = 11 × 9 = 60 ÷ 6 =Mathslibres.com



Multiplication et Division (F) RéponsesCalculez chaque produit ou quotient.1 × 4 = 4 1 × 8 = 8 11 × 12 = 132 6 × 10 = 6072 ÷ 6 = 12 14 ÷ 7 = 2 13 × 11 = 143 4 × 14 = 5620 ÷ 4 = 5 3 × 13 = 39 5 × 13 = 65 3 × 3 = 99 × 4 = 36 8 × 5 = 40 126 ÷ 9 = 14 30 ÷ 3 = 101 × 13 = 13 42 ÷ 6 = 7 63 ÷ 9 = 7 6 × 11 = 664 ÷ 1 = 4 12 × 15 = 180 56 ÷ 14 = 4 7 × 15 = 10512 × 5 = 60 6 × 5 = 30 3 × 12 = 36 182 ÷ 14 = 133 × 11 = 33 6 × 13 = 78 52 ÷ 4 = 13 120 ÷ 10 = 12150 ÷ 10 = 15 56 ÷ 7 = 8 32 ÷ 8 = 4 90 ÷ 10 = 915 × 3 = 45 11 × 12 = 132 4 × 11 = 44 5 × 14 = 7010 × 6 = 60 169 ÷ 13 = 13 6 × 2 = 12 130 ÷ 13 = 10168 ÷ 14 = 12 110 ÷ 11 = 10 143 ÷ 11 = 13 14 × 3 = 422 × 9 = 18 150 ÷ 15 = 10 2 × 11 = 22 3 × 1 = 342 ÷ 3 = 14 2 × 9 = 18 9 × 4 = 36 4 × 12 = 4818 ÷ 2 = 9 72 ÷ 12 = 6 1 × 5 = 5 70 ÷ 7 = 1011 × 9 = 99 3 × 9 = 27 32 ÷ 8 = 4 12 × 9 = 10810 × 2 = 20 10 × 1 = 10 91 ÷ 7 = 13 98 ÷ 7 = 149 × 4 = 36 14 ÷ 2 = 7 9 × 10 = 90 5 ÷ 5 = 191 ÷ 13 = 7 10 × 12 = 120 39 ÷ 3 = 13 4 × 13 = 5299 ÷ 11 = 9 48 ÷ 4 = 12 5 ÷ 1 = 5 90 ÷ 10 = 990 ÷ 6 = 15 117 ÷ 13 = 9 4 × 4 = 16 105 ÷ 7 = 153 × 5 = 15 48 ÷ 4 = 12 1 × 14 = 14 35 ÷ 5 = 78 × 6 = 48 1 × 5 = 5 9 × 14 = 126 72 ÷ 9 = 821 ÷ 3 = 7 9 ÷ 1 = 9 4 ÷ 1 = 4 10 × 12 = 1201 × 13 = 13 12 × 4 = 48 11 × 9 = 99 60 ÷ 6 = 10Mathslibres.com


